Math 115 - Final Exam Name

December 11, 2014 Score

Show all work to receive full credit. Supply explanations where necessary.

1. (10 points) Determine whether each statement is true (T) or false (F).

(a)

(b)

()

(d)

In a normal distribution, the mean and median are equal.

When constructing a confidence interval estimate, choosing a larger sample
causes the margin of error to be greater.

The normal distribution is a discrete probability distribution.

To get the probability of a path in a tree diagram, you add the probabilities
along the branches.

In a frequency distribution, the class width is the distance between the
lower and upper limits of a class.

The mean is the measure of central tendency that is least affected by
outliers.

The standard deviation of a probability distribution describes how the
outcomes vary.

In most applications, continuous random variables represent measured
data, while discrete random variables represent counted data.

In a data set, roughly 50% of data values lie between @1 and Q3.

The Poisson distribution is a continuous probability distribution.



2. (4 points) The histogram below shows the distribution of the lengths of phone calls (in
minutes) to a customer service center on a particular day.
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(a) How many phone calls did the service center receive on that particular day?

(b) Which time interval had the least number of calls?

(c) If the histogram was changed to a relative frequency histogram, what would be
the height of the fourth bar?

(d) Without attempting to compute them, determine which is greater, the mean
length of phone calls or the median length?



3. (6 points) The following frequency distribution shows the costs (in dollars) of 30
portable GPS navigators.

| GPS Costs ($) | Frequency |
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(a) What are the class boundaries associated with the first class listed above?

(b) What is the class width?

(c) What are the class midpoints?

(d) Use class midpoints to estimate the (weighted) mean cost.



4. (4 points) The depths (in inches) at which 10 artifacts were found at an archaeological

dig are listed below.
20.7 248 30.5 26.2 36.0 34.3 303 29.5 27.0 38.5

(a) Find the range of the data set.

(b) Use your calculator to compute the mean and sample standard deviation.

(c) Use your results from above to determine what depths would be unusually large.

5. (3 points) Math SAT scores have mean 514 and standard deviation 117, whereas math
ACT scores have mean 21.1 and standard deviation 5.3. Compute the coefficient of

variation (CV) for each test. Which test has more variation?

6. (3 points) State whether each probability is theoretical or experimental.

(a) A bag contains 3 red marbles, 5 blue marbles, and 2 green marbles. The proba-
bility of randomly selecting a green marble is 2/10.

(b) The probability of rolling an even number on a six-sided die is 3/6.

(c) After rolling a die 75 times, John got an even number 28 times. The probability

of rolling an even number is 28/75.



7. (8 points) The numbers below show the points scored by the Chicago Bulls in their
2012-2013 season playoff games (in the order in which they occurred).

89 90 79 142 91 92
99 93 78 94 65 91

Compute the five-number summary, the interquartile range (IQR), and the cutoff values
for outliers.

8. (5 points) A letter is selected at random from the first box and placed into the second
box. Then a letter is selected at random from the second box.

Sketch the complete tree diagram for this experiment. Include the probabilities of each
path.



9. (3 points) A biology class has 35 students. Of these, 11 students are biology majors
and 14 students are male. Of the biology majors, 5 are male. Find the probability
that a randomly selected student is a male or a biology major.

10. (4 points) A card is drawn at random from a standard deck of playing cards. Let A be
the event of drawing a face card, and let B be the event of drawing a queen. Compute
P(A|B) and P(B|A). Be sure to indicate which is which.

11. (3 points) In a recent year, SAT scores were normally distributed with mean 1498 and
standard deviation 316. What is the probability that a randomly selected test has a
score between 1250 and 14507



12. (6 points) The probability distribution for the number of games played in the World
series from 1903 to 2012 is shown below.

z | 4 5 6 7 8
P(z) [ 0.176 0.241 0.213 0.333 0.037

(a) Find the mean (expected value).

(b) Find the standard deviation.

(c) What is an unusually large number of games in the World Series?

13. (6 points) In a certain region, polls indicate that Democrats have a 62% chance of
winning elections. Fifteen races are selected at random in that region. (Use the
binomial distribution for these problems.)

(a) What is the probability that exactly 10 Democrats win elections?

(b) What is the probability that more than 8 Democrats win elections?

(c) What would be an unusually small number of winning Democrats?



14. (4 points) Heights of U.S. women aged 20-29 are normally distributed with mean
64.2in and standard deviation 2.9in. In a group of 750 women, about how many are
taller than 68in?

15. (3 points) In a survey of 3110 U.S. adults, 1435 say they have started paying some bills
online. Find a 90% confidence interval estimate for the true population proportion.
Give a one-sentence interpretation of your result.

16. (3 points) The waiting times at the emergency room of a certain hospital and approx-
imately normally distributed. In a sample of 21 patients, the mean waiting time was
24 minutes and the sample standard deviation was 10 minutes. Find a 95% confidence
interval estimate for the true population mean. Give a one-sentence interpretation of
your result.



